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not suggest that mankind can __ to be wasteful in the utilization
of these resources A resort B grant C afford D entitlel] [J [0 O [
resortnO000vOOOOOOO((-to)grant0 000 OQO
O TA/RAOO /00 entitled O 0O 0O O enrich O 0O O enlarge
O O strengthen O O O O O moron U O 0O 03-2 Unit 1 14. what
were your__ wages last year? A. entire B aggregate C complete D
terseentire 0 [J aggregate 1 J O O O [0 0O ]00OGREDO O
OO00000 complete 00O -ple- O O deplete [ 01 01 [ [
complement D 0O OO OOO compliment O O 00O 0O [O0O]
“7 00 O()” OO supplement O O O O O replenish O
[ terse J OO 00 03-3 Unit115. I should like to rent a house,,
modern comfortable and In a quiet neighborhood. A. all in
all B above all C after all D over all above all O UJ [0 I [J all in all [
DodododoafteralD000O0@UOOOOOO0O0)
overall 0 OO O O O overall 0 O OO 16. Most people who travel in
the course of their work are given traveling _ A.income B
allowance C wages D pay wage [ [ [ allowance U 0O O O O O [
O payv.O O O n.00O 03-4 Unit 1 17. Professor Smith and
Professor Brown will _ in giving the class lectures. A. alter B.
changell OJ 00 O O C. alternate D. differalter 1 0 (U 0O OO OO
OO)change D O (U OO O)fromd tod OO convert U O ([
(1) vert O O converter 1 O O differ O O fer O O differ from



fetch O O ferry OO OO O ferryboat (1 I conifer LI I [1 cone [ [
0O 0O 0O conference (O O 0 )O O meeting O O (L O)
convention J 0O O O 0O OO O O adventure O O summit O O [
o000 @oodod)forumdd seminar OO 0O O O
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